NG 2 IR 505 3 DO ABSREOHR (£F)

(AL 5, %)

AERET o 205 214 224 23 E 245 25%F1H 25424 25434 25444 25454 25%F6H | AR
7 T 5,739 3,086 2,993 2,528 2,299 153 153 175 169 164 136 193
(HTAEFEIH (H) k) (9.2) (A 30.5) (A 249) (A 15.5) (A 9.1) (A 13.1) (A 19.9) (A 14.6) (A 11.1) (A 25.5) (A 29.5) (A 16.8)
PV YT 1,580,847 1,122,990 775,593 640,907 533,042 34,455 30,779 70,506 11,443 37,565 29,890 34,909
(BTAEE (H) B (29.3) (A 29.4) (A 30.9) (A 17.4) (A 16.8) (A 23.6) (A 20.3) (A 8.7) (A 21.7) (A 27.7) (A 14.4) (A 37.6)
147 oA 4% 277.0 281.7 259.1 253.5 231.8 225.1 201.1 231.4 245.2 229.0 219.7 180.8
- 92 86 57 55 58 5 7 5 5 5 3 2
" 3005 FIA# (1.6) 2.2) (1.9) 2.2) 25) 3.3) (2.6) 2.9) 3.0) 3.0) 2.2) (1.0)
= 3005 LL - 1,809 1,291 954 765 713 54 13 78 13 52 12 67
A 0007 M g (31.5) (32.4) (31.9) (30.3) (31.0) (35.3) (28.1) (27.4) (25.4) (31.7) (30.9) (34.7)
48 [1,00077 LA 3,571 2,423 1,836 1,609 1,447 88 100 115 115 100 86 117
A1l |5 00077 o (62.2) (60.8) (61.3) (63.6) (62.9) (57.5) (65.4) (65.7) (68.0) (61.0) (63.2) (60.6)
# 5,000 5 A LI_E 232 155 118 89 71 1 5 7 6 6 1 5
Jir 3MEMLLT (4.0) (3.9) (3.9) (35) (3.1) (2.6) (3.3) (4.0) (3.6) (3.7) (2.9) (2.6)
B 35 31 28 10 10 2 1 = - 1 1 2
=T (0.6) (0.8) (0.9) (0.4) (0.4) (1.3) 0.7) (=) (=) (0.6) (0.7) (1.0)
e 70 36 21 16 20 = T 2 T T T =
TERL B K (1.0) 0.7) 0.6) (0.5) 0.7) (-) 0.6) (1.0) 0.5) 0.5) 0.6) ()
o e 149 91 70 51 12 3 2 2 5 5 1 1
i BB AR 2.1) (1.9) (1.9) (1.7 (1.5) (.7 (.1 (1.0) 2.4) 2.4) 0.6) (.7
o 3,619 2,730 2,056 1,727 1,580 107 97 112 111 109 87 123
et (50.7) (56.5) (56.9) (57.2) (57.7) (60.8) (53.6) (53.8) (53.1) (52.7) (54.4) (52.8)
ey 1,000 531 429 349 336 16 24 22 39 28 25 33
R RS L=r (14.0) (11.0) (11.9) (11.6) (12.3) 9.1) (13.3) (10.6) (18.7) (13.5) (15.6) (14.2)
. 440 282 208 162 148 12 2 4 8 15 5 4
?q'i 7L AR AT (62) (58) (58) (5.4) (5.4) (6.8) (6.6) 6.7) (3.8) (7.2) 3.1 6.0)
F Y . 240 121 78 60 35 3 1 = 5 ] - 2
g | BHEHRSRBIEOR K (3.4) (2.5) 2.2) 2.0) (13) (L.7) 0.6) (-) 2.4) (1.9) (-) 0.9
e 109 61 31 27 26 1 - 2 1 1 2 1
I (15) (1.3) (0.9) (0.9) (0.9) (0.6) () (1.0) (0.5) (0.5) (1.3) (0.4)
— 288 126 76 58 46 1 7] 7 2 6 1 6
RITUSZR (4.0) (2.6) 2.1) (1.9) (.7 (0.6) (2.2) (3.4) (1.0) (2.9) (2.5) (2.6)
Zoft 1,217 852 644 569 507 33 40 17 37 38 35 50
(17.1) (17.6) (17.8) (18.8) (18.5) (18.8) (22.1) (22.6) (17.7) (18.4) (21.9) (21.5)
W s 1,175 968 657 614 543 70 35 19 13 50 39 70
= (20.5) (24.3) (22.0) (24.3) (23.6) (26.1) (22.9) (28.0) (25.4) (30.5) (28.7) (20.7)
P 739 523 425 370 355 22 22 25 39 28 19 15
1 oc (12.9) (13.1) (14.2) (14.6) (15.4) (14.4) (14.4) (14.3) (23.1) 17.1) (14.0) (7.8)
N 813 512 400 312 317 28 23 19 22 15 16 31
e (14.2) (12.8) (13.4) (12.3) (13.8) (18.3) (15.0) (10.9) (13.0) 9.1) (11.8) (16.1)
— 1,953 1,309 984 852 685 14 12 11 10 39 37 70
W px (34.0) (32.8) (32.9) (33.7) (29.8) (28.8) (27.5) (23.4) (23.7) (23.8) (27.2) (36.3)
| —e % 493 313 261 188 187 11 21 25 7 2 7 16
i (8.6) (7.9) 8.7) (7.4) (8.1) (7.2) (13.7) (14.3) (4.1) (7.3) (5.1) (8.3)
b 2+ K 22 21 9 7 10 1 = 1 - 2 1 1
i e 5 (0.4) (0.5) (0.3) (0.3) (0.4) (0.7) () (0.6) () (1.2) 0.7) (0.5)
X P 6 10 4 [ 7 - 1 - 1 - - -
oh (0.1) (0.3) (0.1) (0.0) (0.3) () 0.7) () (0.6) (-) (-) (-)
B 162 87 56 30 33 7] 2 2 5 1 3 1
= (2.8) (2.2) (1.9) (1.2) (1.4) (2.6) (1.3) (1.1) (3.0) (0.6) (2.2) 2.1)
STy 324 202 157 115 128 2 6 2 9 15 11 2
S A= (5.6) (5.1) (5.2) (4.5) (5.6) (1.3) (3.9) (6.9) (5.3) 9.1) (8.1) (6.2)
Zoft 52 4 40 39 34 1 1 1 3 2 3 7]
(0.9) (1.0) (1.3) (1.5) (1.5) 0.7) 0.7) (0.6) (1.8) (1.2) (2.2) 2.1)

() BAER - KB - SERLA SR D T Be > () NOERFIE, #ERLLE,




